Chapter 4 BLM Answers

BLM 4-1 Chapter 5 Prerequisite Skills

1. Estimates will vary. Actual measurements are
as follows:
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8.a)AB=+41 b) CE=6y3 ¢)FG=2
9. a) 322° b) 252.5° ¢) 169° d) 132.9°
X

10. cosAzL; tanC:% b) sinYz%; tan X =~

NG y

11. 2) 0.59 b) 0.05 ¢) —0.58

d) —0.99 ) 19.08 £)-0.97

12.a2) 6y(x — 2y)(x +2y) b) (x - 10)(x — 1)
©)32x-1Dx-3) d) Bx+2)2x-5)
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BLM 4-2 Section 4.1 Extra Practice
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(continued)



3.a) 5—675,2.62 b)%, 4.19

%079 a1 541
4 18
4.2) 144° b)150° ¢) 123.75° d) —315°
5. ) 183° b)229° ¢) 344° d)—143°
6. 2) 810°, 1170° b) % % ¢) 7.98, 14.27
7. a) subtract 360°

b) subtract 27, and use fractions to determine the
exact value

¢) subtract 27 using your calculator, and then round
your answer to the required accuracy

8. a) 75° £ (360°)n, where 7 is a natural number

b) G + 2nn) radians, where 7 is a natural number

¢) (1 £ 2znn) radians, where 7 is a natural number
9.20.9 cm
10. 1.43 radians

BLM 4-3 Section 4.2 Extra Practice

1.a)x>+)"=16 b)x*+)*=5

¢) x>+ =82.81 d)x* +)* =121

2. ( 3,2) and [—2, —\B] ; When the
13713 3 3

coordinates are substituted into x* + 1 = 1,
the LHS equals the RHS.

w059 w5
o(20) o (53)

6 6 77
1 1

4. a) (—2, —Zj b) (0, 1)

o3 -5 o (-3}
11 (1 43)
o (-5 5 WY
(V3 1)
¢) (1, 0) d) L% -3
6.2) 225° b) 180° ¢) 315° d) 240°

7. a) On b)%ﬂ c)%n d)x

(continued)

1 1 1 1
10. a) (ﬁ’ _ﬁ) b) (_ﬁ’ ﬁ)
BLM 4-5 Section 4.3 Extra Practice

l.a)% b) —% O-1 dy-1 e)éorzf f)-1
1 NG 1

2a) por D) 9l -l

93 NHV2

3.a)0.64 b)—0.82 ¢)-2.36 d)-1.19
4.a)-1.25 b)—0.73 ¢) 1.03 d) 0.68
S5.a)lorIIl byIorlIl ¢)Iorlll
d)IV e) IV )1
6. a) —sin 50° b) cos 50° ¢) —tan 80°
d) —csc 80° e) cot 20° f) sec 70°
7. a) 135°,315° b) -30°, 30°
¢) 30° d) -270°, -90°, 90°, -270°
T 2m 2n 4n n 3n In
8.3) 59? b)—TE,TC c) Ta? d) T T T

4’ 4’ 4
9. a) two solutions; 0.43, 2.71
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b) two solutions: —2.03, 2.94
A

ah
W

A
Y

Y

) three solutions: —281.85°, —78.15°, 78.15°
A

)

A
Y

N

Y

d) three solutions: —123.69°, 56.31°, 236.31°

A
I

N
=%

Y

10. sin9=—B csce=—E
13 12
c0s6=i sec9=B
1 5
5
tan0=—— cotf=—-"—
5 12

BLM 4-6 Section 4.4 Extra Practice
1. a) 60°, 300° b) 120°, 300°
¢) 30°, 150° d) 120°, 240°

n 2n 4n Sm n 2n 4m Sm
2 a) DA A P
33 3°3 33 3°3

5 5

c) Eﬁﬁﬂj d) E)j

24" 4 3°3
3.0) % )0, I g T T TR
2 3°3 2°2°6 6

| BLM 4.9 |

(continued)
4.2) 1.35,4.49 b) 1.76, 4.90
¢) 1.14,2.00 d)0.08, 3.22
5. LS RS LS RS
sin® 0 — 1 0 sin® 0 — 1 0
e 2 3 2
:(sin—) -1 :(sin—) -1
2 2
=(1y -1 =11

6. No. Example: The range of the cosine function is
[-1, 1]. Cosine is undefined for values that are
outside of this range.

7. a) 0.7854,2.1910, 3.9270, 5.3326

b) 1.1071, 1.240, 4.2487, 4.3906

¢) 0, 1.3258, 4.4674

8.2nn, n el
9. x:nn,—g+27rn

10. (1+4n)%,n el

6. a) Example: unitary method; %n; ~4.71
b) Example: proportion method; —3m; = —9.42

¢) Example: unit analysis; 5%; ~2.62

d) Example: unitary method; 4?“; ~4.19

7. a) Example: proportion method; = 186.21°
b) Example: unitary method; = 22.92°
¢) Example: unit analysis; —315°
d) Example proportion method; = —306.53°
8. "

2
9.2a) 6= 133.69° or 2.33 b) a ~ 31.85 cm
¢)r~699m d)a~428ft

10. =

4
11. 0.6
12. (_l,*/gj, (1"/5]
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14. a)

b) 4%-1—27‘571,}1 el

<Y

(continued)
_ 4 _3 _ -4
15.sin 6 = 5 ,cos 0 5,tane— 3
_ =5 ] - =3
csc O 4,5609 3,cote— 3
16. - =
44

17. a) Equation A: 6 = g,z?n ;
b) Equation C is the product of Equation A times
Equation B (i.e., AB = C). Therefore, the solution to
T omo2n
4’37 3°

Equation B: 6 = g

Equation C is the solutions to A and B: 6 =
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